EAGRAROBREERT — 2 N— IBISH —F

20215F4A8H () 1MH3ERE4H

Pl 3 C 2 YR 3% ‘ (XM&] W ‘ (R — | 4 (5) 14000 2
[A&4£] 1 7 :500,000 @ ~ 23#%&:200,000H ~ 3#&:125,000 @ . 43#&:75,000 3 . 53 :50,000
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
Soa s KLEE 234, 44— . - FERE (BA
(sl T1o>v59—L # 3 zH 1(3_4)5 4-4-4-4 | 39.3 1 (4:327) ?#ﬁi
:IA4>T7Fy>a B hOEALTO-IL SENIS
N 1RE R 34 7| = KAt (EE)
2 g|TAI>¥>EZ2IFX i g 56.0 1(3%)6 EE R 2 ?f; T
L:Iqy>7RAY B:IAYLNRNv—)L FERS
. - Hehs : -10-6- - L ER
3 7l TaEx T i 3 i 1.(335).1 10-10-6-5 | 39.3 6 (4_235) gﬂagc{(m&)
A4 3R R-5— B.IA2 2NV KT AR BERR
L= s 3 | FER 1:35.3 6-5-7-6 |39.8| — 5 439 | BHE= (ER)
4|5l | FreT1v7 54.0 ("1/4) (a) | LB
R:id—WKYy T BinFvayT FLTLANITT
3 - _ 7 4 3 | HEAMNE 1:35.4 3-3-32 |40.3| — 10 | 508 |EREERAL (EM)
5|7|10| A¥ =Y v 1=—2 .0 (172) Ca |Em
R:Z2bhArd)a—> B:¥H/I>T BNEHRS
N o, [©= NEREF :35. -9-11- . — maLE (EH)
6 4 f—toH D RS 4 3 | 1(7351:;5 9-9-11-11 | 39.6 1 (4_750) b
LIET77%47 B:Yx147 X BRRStt IXF1T77—LA
> g = 3 4 3 | A—E 1:35.5 11-11-12-10 39.5 | — 4 397 | KERIER (FEH)
71111 AX /723X 54.0 (74%) (-3) AEEEF
R:hHLrTIyvoell BXXIIANRT LY BRiAYIS
B3 | KIFEM 1:36.0 12-12-9-9 | 40.0 | — 7 421 | BAE— (FEfH)
Y > PIR 54.0 @ (e |8 A-N¥AZ pEE
IR FLyY BAT=ZL 7717 [ AN
N - ihEt :36. —~7-5- . — EAE— (Fh)
9l8l11 Ty T Ty TR % 3 on 1(326)3 7-7-5-8 | 41.0 8 <4+117) AL
R:iALLTSyoEll BieqhTyy K B
=0 \ 4 3 | FLEEX :36.3 5-6-8-7 |40.7 | — 3 478 | HEEMH—EB (EH)
10/7| 9| ET>N—1= 55.0 () 1) FHAT
x4 39R—=—5— BNTILRN—/N— HIARZY b
o . 4 3 | TRE 1:36.6 2-2-2-2 | M.6| — 9 420 | ALEFEHSL (FEf)
111812 AN F 54.0 (11/2) (-5) JU—2ry K (%)
b=t EFF—7 B:RT14—NPv—7 BHE IES
S EES S 4 3 | REAEL 1:36.8 8-8-10-12 | 41.1 | — 12 435 | FEEF— (FEH)
EH 3 NI A 54.0 (1 1/4) 0 REEXTF
Rib—t>ya—4> Bih—t>FAUZR J—ZA—F
® I —F—EBIERL
13=7r= 8,12,10,5,9,6,11,3,4,7,1,2
2al=7F= 8,12,10,5,6,9,11,3,4,7,1,2
Ga=r= 8,12,10,5,11,7,6,9,2,3,4,1
43—+ — 8,(10,12),5,7,6,9,11,2,1,4,3
[ RN
B OB 5 210 714K 5-8 140H e & 5-6 270M 3ER 5-7-8 1,030M
% B 5 120/ 5-7 400 B & 5-8 330M JEH 5-8-7 3,830
8 130M4 7-8 440 B H 5-8 590
7 250M

ARICOVWTRDTEEERROODE. TR LIV,




